THM6FE 10 A

F5 B B SR AR
SUENDERLAERBZIZOINT (SF16F9A)
N O 5 A HIT4E[R A
X7) wH6F9H (4F16 4 8 1) (F1 549 H)
R L1 ) i 1. 37 fi# (11 i) 1. 42 f£ (10 {ir)
R N 1.36 £ (eEZ 12 £) £ (11 4 £ (10 fir
42|H] 1.24 & 1.23 f 1.29 fiF
5 HIEAE NN 1.38 £ (¢EE 4 1) 1. 36 i (4 fir) 1. 38 {5 (3 fir)
PPN R
A [E 1.01 4 1. 00 fi 1.02 fiz
TR | 2.1% (eEE 14 2.1% (16 i)
T NS 2.7% — 2. 7%

1 ARAGEE:1.361F

(£E 12 £1)

B2 988
Fos

ZFEEHE TEAESZE. RADNKRBZ EE>THEBLTLS1L0OD,. RADHEIC
RBEARLHY . REDHEICESIAAbNS, PELRILERICTEZS
ARIIVENHD.] OHIAEREZAES)

[C5lEkE

(%) 2F 1.241%, &)l 1.53#%F, & 1.781%
Vaasd .
EHEEDRALERE:1.386 (2EE 4 41)
(%) 2F 1.01{%. Al 1.28#%, & 1.681%
[SE)EMRABEZDOHE (BRI
1.80
1.60
1.40 = = = = = = - = = = = =
[ ] ] ™ ] ] = ] ] ] ] [ ] :
1.20
1.00 R5.9 10 11 12 R6.1 2 3 4 5 6 7 8 9
B=Z 8] 142 1.42 1.40 1.39 1.43 1.41 1.44 1.43 1.39 1.37 1.38 1.37 1.36
B &[5 1.29 1.30 1.28 1.27 1.27 1.26 1.28 1.26 1.24 1.23 1.24 1.23 1.24
[epBh AR 1L 25 85
(BZBIEDKRANEEOHRE (FER) HESEAR
2.50
2.00
1.50
1.00
0.50
0.00
Hit] 121314151617 18] 1920212223 242526272829 30|RrR1| 2] 3] 45
= 1LE [0.59/0.74/0.57]0.61[0.81|1.06|1.17[1.27|1.13]0.77]{0.51[0.75]0.90{0.99(1.21|1.39]1.50{1.65|1.86]|1.97|1.81(1.23|1.45|1.57|1.44
— 0.49[0.62|0.56/0.56]0.69/0.86/0.98(1.06]1.02|0.77{0.45|0.56/0.68[0.82|0.97|1.11{1.23|1.39|1.54|1.62|1.55|1.10(1.16]1.31|1.29
[ BHHAT] 8 1258

2 SEeREX (fMI6EFE4~6A) : 2.1%
(%) 2E2.7%. A)11.9%. EH1.5%

(£E 14 £1)




